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HEEER English translation

There are 105 spears. 7 for 2 people are distributed. It is double, and 105 is
made 210 to know the number of people. It's possible to separate each 7 of
those and know 30 people.

When | have every 50 spears about one set with which the turn has been bound,

60 spears remain. When | have a spear every 30 for one set, | hear that | don't

have enough 40 spears. Lack is added to the rest and it's taken out with 100 to

know the number of the spear and the number of sets. 30 will be reduced from
50 and it's 20. 100 is divisible, and it'll be 5 sets. 5 x 30 = 150. When 40 lacking is

added, | know the number of the overall spear with 190. Enemy's way to
separate. When 7 is separated minutely, 380 remains. When 7 is separated
minutely, 370 isn't enough. The way to know the number of people of the

overall soldier is the same way as the previous description. The soldier's number
of people every bi is 750, and the number of people of the overall soldier is 5630.
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| understood that | thought in a way similar to an equation from the Edo ear and

found a number.
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ZEEIR English translation
®105+7=15
15X2=380 The number of people added more in 30.
@When the number of the group of the soldier is made x.
50x—60=30x1+40
50x—30x=60+40
20x=100
x=5 The group of the choice soldier is 5 sets.
30x+40x=5
30x5+40=150+40
=190 The number of the spear is 190.
®When the soldier’s number of 1 group is made
7x+380=8x—370
8x—7x=380+370
x=750 7x+380x=750
7 X750+380=5630
T here fore the number of all soldier is 5630.
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I read a sentence, and it was hard to change the language, and to make a sentence TWBERSEEEERLLL. TTVERSD,

again.
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Because there was a part to translate it into Japanese, and not to

understand it, and not to be able to translate, | check it in various ways, and

it wants to be possible for correct reason

I thought that it was important | cooperated in members, and to wrestle.

| feel the history when I think that what | find by such a complicated method

from old days leads in modern now and think that it is great.
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